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3ULYDWH� DXFWLRQ� LV� D� EXVLQHVV� ZLWK� D� VLPSOH� EXVLQHVV� SURFHVVHV�� %XVLQHVV� PRGHO�
FDQYDV� GHVLJQHG� WKURXJK� D� FDVH� VWXG\� RQ� 37� %DODL� /HODQJ�0RELO� WR� GHVFULYH� WKH�
IXOILOPHQW� RI� FXVWRPHU� QHHGV� WKURXJK� WKH� RUJDQL]DWLRQDO� VWUXFWXUH�� SURFHVVHG� DQG�
V\VWHP��7KURXJK�PDSLQJ�RI�ULVN�LQ�WKH�EXVLQHVV�PRGHO�FDQ�EH�KHOSIXO�WR�GHVFULEH�WKH�
ULVNV� WKDW� FDQ� RFFXU� DW� HDFK� HOHPHQWV� LQ� HDFK� EORFN� RI� WKH� EXVLQHVV� PRGHO���
0DLQWDLQLQJ� JRRG� UHODWLRQVKLS� ZLWK� FXVWRPHUV�� WKH� EDODQFH� RI� WKH� QXPEHU� RI� XQLW�
DXFWLRQV�E\�DXFWLRQV�SDUWLFLSDQWV�LV�WKH�NH\�WR�WKH�VXFFHVV�RI�DQ�DXFWLRQV��7KH�ULVNV�
WKDW�KDYH�EHHQ�GHVFULEH�FDQ�EH�PLWLJDWHG�E\�UHGXFLQJ�WKH�LPSDFW�RU�OLNHOLKRRG��
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%DODL�OHODQJ�VZDVWD�PHUXSDNDQ�VXDWX�ELVQLV�GHQJDQ�SURVHV�ELVQLV�\DQJ�VHGHUKDQD��
'HQJDQ�PHQJJXQDNDQ�VWXGL�NDVXV�37�%DODL�/HODQJ�0RELO�GLUDQFDQJ�VHEXDK�PRGHO�
ELVQLV� NDQYDV� XQWXN� PHQJJDPEDUNDQ� SHPHQXKDQ� NHEXWXKDQ� SHODQJJDQ� PHODOXL�
VWUXNWXU� RUJDQLVDVL�� SURVHV�GDQ� VLVWHP��0HODOXL� SHPHWDDQ� ULVLNR�SDGD�PRGHO� ELVQLV�
GDSDW�PHPEDQWX�XQWXN�PHOLKDW�ULVLNR�ULVLNR�\DQJ�GDSDW�WHUMDGL�SDGD�VHWLDS�HOHPHQ�GL�
PDVLQJ�PDVLQJ�EORN�PRGHO�ELVQLV��0HQMDJD�KXEXQJDQ�EDLN�GHQJDQ�SDUD�SHODQJJDQ��
NHVHLPEDQJDQ� MXPODK� XQLW� OHODQJ� GHQJDQ� SHVHUWD� OHODQJ� PHUXSDNDQ� NXQFL�
NHEHUKDVLODQ� VXDWX� OHODQJ�� 5LVLNR�ULVLNR� \DQJ� WHODK� GLMDEDUNDQ� GDSDW� GLPLWLJDVL�
GHQJDQ�PHQJXUDQJL�GDPSDN�DWDX�PHPSHUNHFLO�NHPXQJNLQDQ�\DQJ�WHUMDGL��
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